ASERA mERE SERA mERE

Taiwanese Technology Consistent Quality Taiwanese Technology Consistent Quality

PRI X E

ISO 14001: 2004715 & I i FIAIE
OHSAS 18001: 2007HRYk fi2 FrZ 2 & 12 i FRIAIE




AERAN mERE

BEEE B2
HE%EL S g/il

o \op

Jdiy

Jdiy




ABEEK mERERE

14 =E

e L - L R R

=2 L
E RSB LEEEE - oo oo eevereereeneeseeneenteseestestesteeteeteeteeeeee e e e e e e e e e
s = - P
R Lk = b Wl 1

HLL ﬁﬁ;’%mggumm%& ..............................................................................
ELH ﬁﬁiﬁ%%ﬁ“*ﬁ”ﬁ%& ..............................................................................
ELW ﬁﬁ’;‘%mg\ﬂﬂ!ﬁ’%ﬁ ..............................................................................
MLN ﬁﬁ%mgﬁjim*gga...........................................................................
MLW ﬁﬁiﬁ%%gﬂ*ﬂﬁ%ﬁ....... e eeeeteeteteceee et etteteattettetectettstetccssetesettestcsrrnsan
ST *%mﬁﬂﬁﬁ%m%wjﬂ*ﬁg&"”n.........................................................

SFY BURBRLLAT T TR o oovvvevererssrrnrerenssinereeennnniinenenes
SFS BURBRLLAT R T TR o oovvveverersssrnrerenssinieneessnsniinenenes
DFS BUREELLAT R T TR -+ vevrerereerernersenisnntnteieeteneenanns
SFI BURER LRI R T TR o eovvvrvreresernsennetesenntite e ettt tes sttt tes et te e e e
DFI BUREELLAT R TFZR weeeeerevrereeeenernnenesenisititetessnittetes sttt te s e s st te e ssaaeeeaes
SFU BURTE AT R TF TR - vvvvevrerereeresssmisnininnieieeteneenannss
DFU BURER AT RTFTR - vvveeeeesrrmmenesesisnentetensnneneeennns
SFK BURBRZLAT R TR o oovvverererrrreneresnsnnnetensninieneeanns
SCI BURBELLAT R TR weveeeererrerssrnmrmrnnennenteteeteneenannes
BF (F5BLSRHBER) - oveoveereerr e e s e et et

.....................................

.....................................

.....................................

a A W W NN,

(o2}

10
1"
12

13

14
15
16
17
18
19
20
21
22
23
24

. 25

26
27

cee 28

29
30
31

01

BEXMUEN

PRECISION LINEAR GUIDEWAYS
EER

Preload classes

HL RFVEMEBIRM=FMETE | PIRIERIRISRE S TR,

offers three classes of standard preload for various applications and conditions.

S 7 | EE B
BEERK

Certain load direction,
low impact,low precisi
onrequired

BARMBEERSRE

High precision required

BT -RESKBABUNN , TRATUIBLABY , FEFFREER.

Besides the standard top mounting type, LDA also offers the bottom mounting type of rails to customers.

BESHR

Accuracy Classes

NitEZER , BARS ,
2 ERTE

High rigidity required,
with vibration and impact

HLRIILMBRNEE , 2N ER. &, B%, BHE.
BERBERALR  FRURRERETREABE,

The accuracy of HL series can be classified into

normal (C), high (H], precision (P), super precision (SP),
ultra precision (UP), five classes. Please choose the
class by referring the accuracy of applied equipment.




aEEK mERE

B4 MBHIEE Accuracy of interchangeable guideways

BHAEER Accuracy Standards

S ltem
FEEZMR Accuracy Classes

BEHK AR IR ZE Dimensional tolerance of height H
TEN BB F R iRZE Dimensional tolerance of width N
A B EHEAE E IR 2 Variation of height H

B BENKIM EIRE Variation of width N
BRCEHXBHRAEMNTERTE

Running parallelism of block surface C to surface A

BIRDEXBHMBHEMNITEFTE

Running parallelism of block surface D to surface B
S Item
FEEZPR Accuracy Classes

BEHK AR iR ZE Dimensional tolerance of height H
TEN BB R IRZE Dimensional tolerance of width N
A B EHE A E IR 2 Variation of height H

B RENKIMEIRE Variation of width N
BRCEXNBHRARMNITERTE

Running parallelism of block surface C to surface A

FBRDEXBHMBEMNITEFTE

Running parallelism of block surface D to surface B
S Item
FEEZHR Accuracy Classes

BEHK AR iR ZE Dimensional tolerance of height H
TEN BB R TIRZE Dimensional tolerance of width N
A3 EEHMNAEIRZE Variation of height H

B RENKIM EIRZE Variation of width N
BRCEXNBHARMNITERTE

Running parallelism of block surface C to surface A

FBRDEXBHMBHEMITEFTE

Running parallelism of block surface D to surface B

TEFRTERE Accuracy of Running Parallelism

HL - 15, 20

EES Normal =4% High

(H)

+

0.01
0.01

+

o o
o o
w w

B ; mm

FEZY; Precision
(P)

HL - 25, 30, 35

B2 Normal =2% High

(H)

+

0.015
0.015

+

o o
o o
E

R Precision

HL - 45, 55

B2 Normal =% High

(H)

+

0.015
0.02

+

o o
o o
a o

FEZY; Precision

BEKE (mm) FEEZ (um) Accuracy (v m)

Rail Length (mm)

Cc

H

100 ~ 200 a9
200 ~ 300 50
300 ~ 500 z 2
500 ~ 700 20 13
700 ~ 900 2
900 ~ 1,100 24 16
1,100 ~ 1,500 26 1
1,500 ~ 1,900 2820
1,900 ~ 2,500 a2
2,500 ~ 3,100 38 =
3,100 ~ 3,600 % 27
3,600 ~ 4,000 T

©®© N O O b~ W W N DNW®W
B]

BN =
1=

14

N
o

[
)

HLR-T THIXN BN RIIRT R

Dimensions for HLR-T ( Rail Mounting from Bottom )

HLR 15T 15 15 M5x0.8P 8 60 20 1.48
HLR 20T 20 17.5 Mé x 1P 10 60 20 2.29
HLR 25T 23 22 Méx 1P 12 60 20 3.35
HLR 30T 28 26 M8 x 1.25P 15 80 20 4.67
HLR 35T 34 29 M8x1.25P 17 80 20 6.51
HLR 45T 45 38 M12x 1.75P 24 105 22.5 10.87
HLR 55T 53 44 M14x 2P 24 120 30 15.67
HLR 65T 63 53 M20 x 2.5P 30 150 35 21.73

BB RELS Interchangeable type

HL
HL %% HL Seriesg

BRA R Block Type

W E=H W : Flange Type
H: A8 H:Square Type
L: mAE{EYP L: Square Types

20C AEZAP +

R~ : Modelsize
15, 20, 25, 30, 35, 45, 55, 65

E: SBRESHMT

E2:Self-Lubricant

SE: £Ei#%5 SE:Metallic End Cap
Br:#g &2 Dust Protection:

¥E - C, H, P Precision Code:C,H, P

FAE : 20, ZA Preload Code : Z0, ZA
E: Special Block

TidS : BRI IT None: Standard Block

fEFEK  Load Type
C:EfMfif C:Heavyload
H:®BEf H:SuperHeavy Load

EiRRBMmES

HL
HL &% HL Series 4'

& Hi8% Interchangeable Rail

20 R 1200

R~ : Model size
15, 20, 25, 30, 35, 45, 55, 65

BREESX Rail Mounting Type
R: £#{xX R:Mounting From Top
T: 89X T:Bottom

A:
B:

BREEAT Block Mounting Type

8L A : Mounting From Top

T8I B: Bottom

C: EZ T8\ C:ToporBottom

P [+ RC

LRc DR BEZiE RC:Reinforced Cap
#E : C,H,P PrecisionCode:C,H,P

E:

BREHRMNT

E: Special Rail,

TS : BHLHEBIT None: Standard Rail

BB E(mm) Rail Length (mm)




aEEK mERE

HLH RIEZ S RT X

Dimensions for HLH Series Linear Guideways

HLH-CA/HLH-HA

&
G L
w L
4-Mxl c
, £
I |
;| |
o
£ -
= [= =
§ HEH
BHEE
AR et A Biny| b B
~ (mm) EHRSE (mm) BEFRF (mm) Mounting ; elg
e Dimensions Dimensions of Block Dimensions of Rail Bolt for szrglc Aot {1 )
Model No. [°F ASsemP1Y Rail | Ratin
. g g g
hicez i
Block| Rail
Hlu | N|[wW|B|B/|C|L |L|[K G H, | Hy [We|H:| D [ B (mm) | C(kN) kg |ke/m
HLH 15CA| 28 [4.3] 95|34 |26 | 4 [26]39.5(605]| 10 5.3 795|177 (15]15]75]5.3 M4x16 11.38 0.18 | 1.45
HLH 20CA 36| 50.5 [ 76.7 |12.25] 17.75 0.30
30 |14.6| 1244132 6 12 6 6 |20 [17.5]9.5(8.5 M5x16 2.21
HLH 20HA 50| 65.2|91.4|12.6 21.18 0.39
HLH 25CA 35| 58 | 84 |15.7 26.48 0.51
4015.5(12.5| 48 135]6.5 12 00 9 |23122(11| 9 Mé6x20 3.21
HLH 25HA 50| 78.6 |104.6] 18.5 32.75 0.69
HLH 30CA 40| 70 [ 98.4120.25 38.74 0.88
45 6 [ 16 160(40)10 12 9.5113.8(28 |26 | 14 ] 12 M8x25 4.47
HLH 30HA 60| 93 [121.4[21.75 47.27 1.16
HLH 35CA 50| 80 [112.4]20.6 49.52 1.45
5517518 [70]50( 10 12 16 [19.6134 29| 14| 12 M8x25 6.30
HLH 35HA 721105.8|138.2]22.5 60.21 1.92
HLH 45CA 60| 97 |137.4] 23 77.57 2.73
70 [9.5120.5] 86 | 60 [ 13 12.9 18.5130.5] 45|38 20| 17 M12x35 10.41
HLH 45HA 801128.8(169.2]28.9 94.54 3.61
HLH 55CA 75| 117.71166.7{27.35 114.44 417
80| 13 |23.5[100] 75 [12.5 12.9 22129 | 53| 442320 M14x45 15.08
HLH 55HA 951155.8(204.8| 36.4 139.35 5.49
HLH 65CA 70 |144.2(200.2| 43.1 163.63 7.00
90| 15 |31.5[126] 76 | 25 12.9 15 [ 15 ] 63|53 26| 22 M16x50 21.18
HLH 65HA 120(203.6|259.6| 47.8 208.36 9.82

i : 1kgf=9.81N

HLW RIIE SRR

Dimensions for HLW Series Linear Guideways

HLW-CC/HLW-HC

04-05

& &
6 L
W L,
]
9D = f]
® o
! |
I ‘
JD:C \ == / [
- -
‘ ‘ i
@d
E P E
My
Mg m
H
T —f=
-
o
BHRT ] o
(mm) BHRR~F (mm) BHR T (mm) #&R‘j Basic Static Rated Weight
y= | Dimensions Dimensions of Block Dimensions of Rail  ["04"""%| pynamic Moment (kgf.m <
S of Assembly B%Itflor gl
Model No. 4" | Rating M | Mp [ My [iE3k 784
Block| Rail
H|H |N[W|B|B,|C L K G M|TI|T H H; |Wg|Hg | D | h E | (mm] | C[kN
! ! L ! ! 2 SRR (mm | CIkN) kN-m[kN-m|kN-m| kg [kg/m
HLW 15CC| 24| 4.3| 16 |47 38| 45| 30| 395605 | 8 | 53 |Ms5| 6|89 395 [37|15|15[75[53 20| M4x16| 11.38 012 | 0.10 | 010 | 0.17 | 1.45
HLW 20CC 50.5| 76.7 | 10.25 17.75 0.27 | 0.20 [ 0.20 | 0.40
30| 4.6[21.5 63| 53| 5| 40 12 [Me|8|10| 6 6 | 20(17.5/9.5/ 8.5 20| Msx16 2.21
HLW 20HC 65.2(91.4 | 17.6 21.18 0.35 [ 0.35 [ 0.35| 0.52
HLW 25CC 58 | 84 | 107 26.48 0.42 | 033 | 0.33| 0.59
36| 55(23.5 70| 57| 6.5| 45 12 |m8| 8|14l 6 5(23f22|11] 9 20| M6x20 3.21
HLW 25HC 78.6|104.6 21 32.75 056 | 057 | 0.57 | 0.80
HLW 30CC 70 | 98.4 | 14.25 38.74 0.66 | 053 | 0.53 | 1.09
42| 631190 72| 9|52 12 M10( 8.5 16 6.5 10.8] 28| 26 | 14| 12 20| M8x25 447
HLW 30HC 93 [121.4(25.75 47.27 088 | 092 | 092 | 1.44
HLW 35CC 80 | 112.4| 14.6 49.52 116 | 081 | 0.81| 1.56
48] 75| 33 (100 82| 9 | 62 12 |miof100] 18| 9 |12.6| 34| 29| 14| 12 20| M8x25 6.30
HLW 35HC 105.8| 138.2| 27.5 60.21 1.54 | 1.40 | 1.40 | 2.06
HLW 45CC 97 |137.4] 13 77.57 1.98 [ 1.55 | 1.55 [ 2.79
60 | 9.5[37.5/120{ 100| 10| 80 129 |M12|151) 22| 85 |20.5[ 45 38 20{ 17 22.5 M12x35 10.41
HLW 45HC 128.8|1169.2| 28.9 94.54 2.63 | 2.68 | 2.68 | 3.69
HLW 55CC 117.7(166.7| 17.35 Mb.bk 369 | 264 | 2.64 | 452
70 | 13 [43.51140| 116| 12| 95 129 |M14|17.5/26.5 12 | 19| 53| 44 23] 20 30 | M14x45 15.08
HLW 55HC 155.8| 204.8| 36.4 139.35 488 | 457 | 457 596
HLW 65CC 144.2|200.2| 23.1 163.63 665 | 4.27 | 4.27| 917
90| 15(53.5170( 142( 14| 110 12.9 | M16| 25(37.5 15 15 63| 53| 26| 22 35 [ M16x50 21.18
HLW 65HC 203.6[ 259.6| 52.8 208.36 9.38 | 7.38 | 7.38 | 12.89

¥ : 1kgf=9.81N




06-07

— BERAN mERRE

HLL E5&M SR 1% ELH R &M SHIRTER

. . . . Dimensions for ELH Series Linear Guideways
Dimensions for GLL Series Linear Guideways

HLL-CA/HLL-HA ELH-SA/ELH-CA

T K1
o 9 }
@ @ _Ki_ I Ki
5 &) ’ K o]

6 L L 6
- w K2 L1 L1
I
.3.4[ ) B1 B C
P 4-Mxl
: =N HRES i il 2
—— L | 2D Q| i @ = O]
i L T B 4 ————
i ‘ | g z —
:Ei [ 22 RN i [
L N Wr @d ELH-CA ELH-SA
! E P E
My
¥ ™
A
e
n Y

HLL 15CA| 24| 4.3 | 95|34 | 26| 4 | 26 |39.5[ 61.4 | 10 [4.85|5.3 | Max4 | 6 [3.95/3.7|15[15]|75(5.3|4.5( 60| 20 [ M4x16 [ 11.38 | 1697 | 0.12 | 0.10 | 0.10 | 0.14 | 1.45
HLL 25CA 35| 58 | 84 |15.7 26.48 | 3649 | 0.42 | 033 | 0.33 | 0.42
36|5.5|12.5/ 48|35 (6.5 6 |12 [ Méx6 | 8| 6 [ 5 [23|22(11| 9|7 |60]20| Méx20 3.21
HLL 25HA 50 | 78.6 | 104.6| 18.5 32.75 | 49.44 | 056 | 0.57 | 0.57 [ 0.57
HLL 30CA 40 | 70 | 98.4120.25 38.74 | 5219 | 0.66 | 053 | 053 | 0.78 ELH15SA - | 230410148 5.35 9.40 | 0.08 | 0.04 | 0.04 |0.09
421 6 | 1660|4010 6 | 12 [M8x10(8.5(6.5(10.8/28 26| 14|12 | 9 | 80| 20 | M8x25 4.47 24 |45 953426 | 4 5.7 Max6 | 6 [5.5] 6 [15]12.5(7.5]5.3|4.5| 60| 20 | M4x16 1.25
HLL 30HA 60 [ 93 |121.4]21.75 47.27 | 69.16 | 0.88 | 092 | 0.92 | 1.03 ELH15CA 26 139.8|57.8(10.15 7.83 | 1619 | 013 | 0.10 0.10 | 0.15
HLL 35CA 50 [ 80 |112.4]20.6 49.52 | 69.16 | 1.16 | 081 [ 0.81 | 1.14 ELH20SA - | 29 |51.218.75 723 | 12.74 | 013 | 0.06 | 0.06 | 0.15
48(75) 1870|5010 7 | 12 [M8x12(10.2| 9 (12.6]34 29| 14|12 | 9 | 80| 20 | M8x25 6.30 28| 6 | 11 |42]32|5 12 M5x7 | 7.5( 6 | 6 [20]15.5(9.5]8.5| 6 | 60|20 | M5x16 2.08
HLL 35HA 72 (105.8]138.2| 22.5 60.21 | 91.63 | 154 | 1.40 [ 1.40 | 1.52 ELH20CA 32481703123 10.31 | 2113 | 0.22 | 0.16 0.16 | 0.24
HLL 45CA 60 | 97 |137.4] 23 77.57 | 102.71 | 1.98 | 1.55 | 1.55 | 2.08 ELH25SA - |355(59.7| 219 11.40 | 19.50 | 0.23 | 0.12 0.12 | 0.25
60| 9.5|20.5/ 86 [ 60 [ 13 10 |12.9M10x17| 16 | 8.5 |20.5| 45| 38| 20 | 17 | 14 |105|22.5| M12x35 10.41 33| 7 [12.5(48]35 (6.5 12 Méx9 | 8 [ 88 23|18 (11| 9 |7 |60]20|Méx20 2.67
HLL 45HA 80 (128.8(169.2| 28.9 94.54 | 136.46 | 2.63 | 2.68 | 2.68 | 2.75 ELH25CA 35| 59 |83.2]16.15 16.27 | 32.40 | 0.38 | 0.32 | 0.32 | 0.41
HLL 55CA 75 | 117.71166.7(27.35 NM4.4b | 14833 | 3.69 | 2.64 | 2.64 | 3.25 ELH30SA - | 41.5|71.9 |26.75 16.42 | 28.10 | 0.40 [ 0.21 0.21 | 0.45
70| 13 |23.5{100( 75 [12.5 11 112.9|M12x18|17.5| 12 | 19 | 53 [ 44| 23 [ 20 | 16 [120| 30 | M14x45 15.08 42|10 [ 16 {6040 (10 12 |M8x12| 9| 8| 9|28]|23|14|12| 9 |80 20| M8x25 4.35
HLL 55HA 95 |155.8]|204.8(36.4 139.35 | 1962 | 4.88 | 457 | 457 | 4.27 ELH30CA 40 | 70 |[100.4]21.05 23.70 | 47.46 | 0.68 | 0.55 | 0.55 | 0.76

iE 1 1kgf=9.81N iE : 1kgf=9.81N




— BERAN mERRE

08-09

EL RILMHSMR TR MLN B &M RIFHRTR

Dimensions for EL Series Linear Guideways Dimensions for MLN Series Miniature Linear Guideways

ELW-SA/ELW-CA MLN-C/MLN-H

I ! m B B

¥
rany

— L
D O Qo L
2D ‘
=
: : : : RaN77nn VY ==
w L Lt ILV T o I
c od
B1 B oM 2-M ‘ E P ‘ E
L (D o0 oL e} oo
Nl < L
1 il 0 £ | _——l G
| T 7/ mani T = ‘ ’ '(-;
2d ~—
N Wk E P ELW-CA ELW-SA £ 20 - W'nr vﬁ‘r
] o 5
= T =T

)
)
|
g

o o
geESCE ! Y =
) A ¥k (§ R
& @
MLN5C | 6 [1.5(3.5(12 |8 |2 |- | 9.6| 16 | - |@0.8/M2x1.5 1 | 5 [3.6]3.6[0.8(2.4[15 | 5 [ M2xé 0.54 0.84 2 1.3 1.3 [0.008(0.15
ELW 15SA - | 231|411 | 148 535 | 9.40 | 0.08 | 0.04 | 0.04 | 0.2 MLN 7C g | 135225 098 | 124 | 470 | 286 | 284 | 0.010
2 |4.518.5(52| 41|55 57 |M5|5|7(55] 6|15 [125(75[5.3]45]60|20| Mé4x1s 1.25 g l1sl 5 1171 12]25 - o2 maxes| 151 7 laslazl2aloal 151 5| Moxe 0.22
ELW 15CA 261398 57.8 |1015 783 | 1619 | 013 | 010 | 0.10 [ 0.21 MLN 7H 13 (218308 137 196 | 7.64 | 4.80 | 4.80 |0.015
ELW 20SA - | 29 |51.2)18.75 7.23 12.74 | 013 | 0.06 | 0.06 | 0.19 MLN 9C 10 | 189 | 289 1.86 255 | 1176 | 7.35 | 7.35 | 0.016
28| 6 |195(59149| 5 12 Mé[7 9] 6 |6 [20]155/9.5|8.5[ 6 |60]20( M5x16 2.08 0] 2 [55]20]15(25 - | @14 M3x3 (18] 9 |65 6 |35(35|20]75| M3x8 0.38
ELW 20CA 32 | 481 70.3]123 10.31 | 2113 | 0.22 | 016 | 0.16 | 0.32 MLN 9H 16 1299 | 39.9 255 4.02 | 19.60 | 18.62 | 18.62 | 0.026
ELW 25SA - |355|59.7|219 11.40 19.50 | 0.23 | 012 | 0.12 | 0.35 MLN 12C 15| 21.7 | 34.7 2.84 392 | 25.48 [ 13.72 | 13.72 | 0.034
33| 7 |25(73|60]6.5 12 M8|75(10( 8 [ 8 |23 |18 | 11| 9| 7 |60[20( M6x20 2.67 133 [75]27 (20|35 - 02 |M3x3.5/25| 12| 8 | 6 [45]|35[25[10] M3x8 0.65
ELW 25CA 35| 59 |83.216.15 16.27 | 32.40 | 0.38 | 0.32 | 0.32 | 0.59 MLN 12H 20 | 32.4 [ 45.4 3.72 5.88 | 38.22 | 36.26 | 36.26 | 0.054
ELW 30SA - | 415 | 71.9 [26.75 16.42 | 28.10 | 0.40 | 0.21 [ 0.21 | 0.62 MLN 15C 20 | 26.7 | 421 4.61 5.59 | 45.08 [ 21.56 | 21.56 | 0.059
42110 | 31 (90]72] 9 12 M10| 7 |10 8 | 9 |28 |23 (14|12 9 | 80| 20| M8x25 4.35 16| 4 [85]32[25]3.5 45| M3 | M3x4 [ 3 |15 10| 6 |4.5|3.5|40 |15 M3x10 1.06
ELW 30CA 40 | 70 |100.4(21.05 2370 | 47.46 | 0.68 | 0.55 | 0.55 | 1.04 MLN 15H 25 | 43.458.8 6.37 9.11 73.50 | 57.82 | 57.82 [ 0.092

7 - 1kgf=9.81N S 1kgf=9.81N




10-11

ABEEK mERERE

MLW R B & ERIISMRTR

Dimensions for MLW Series Miniature Linear Guideways

STABMHBEERISNR TR

Dimensions for Stainless Steel ST Series Miniature Linear Guideways

MLW-C/MLW-H

W L
B1 B L1
H2
4-MxL Gnl | T 4D
RN 0|l ?
- [ B e [
o T ST TT < / ==
MLW7,MLW9,MLW12 L = %ME " ==
L]l [ I
L (])d
= L N_| Wh E P
aMd— [, B G -
— —~— = Y s N B
T . 2 :E‘ of < ﬁ | c == W L
z Ly 14 P e S B B o L
N We E | P E M—G oD
T ] S =) 1 ﬁ LJ LJ 1
T Lo a7 1/75 |
MLW15 T T % il
W .G L 1“ ¢d L L1
B: B Gn “ N_| . Whr E P J
4-MxI—| c M. VS g
i ol N o]0 M T = — X X ﬁ
H G 8 i e i
+ Ll ] L T of < ! ) T [@] i 1 is) S@ E
: oy LT £ | il —
‘ ' @d
N Lowe | e o .
Wr

¥ : 1kgf=9.81N

ST3C 35|6.7| 12 |M6x13| 3 19 32 0.060.04 |0.04
411258 - | - 26| - | - [16] 8| 5 M1.6x L
ST3L 5.5|10.7| 16 | M2x1.3| 3 30 58 0.09(0.11{0.11
ST5C 8 - |9.7] 16 34 56 0.17| 0.1 | 0.1
6| 1](35[12— 2 M2 x 2 5 |3.7|36|08|24| 15|75 M2 x 6
ST5L 8 - [12.7] 19 48 92 0.24(0.21(0.21
ST7C 8 [14.3|23.5 100 127 0.48(0.29(0.29
ST7L | 8 |1.5| 5 [17| 12 |2.5| 13 |21.6/30.8| M2x2.8| 7 5 |42|26|25|15|7.5| 140 200 0.78/0.49|0.49| M2x6
ST7S - |9.6]|18.8 96 116 0.42|0.18(0.15
ST9C 10 (20.8/30.1 190 260 1.210.75(0.75
ST9L |10| 2 [5.5/20| 15|2.5| 16 |30.9/40.5| M3x4 | 9 | 6 | 6 |3.5[3.5[ 20| 10 | 260 410 2 19|19 M3x8
ST9S - [11.9|21.5 120 151 0.7 | 0.3 |0.24
sT12C 15 [21.6| 34 290 400 26| 14|14
MLW 7C 101 21 [31.2 1.37 2.06 | 15.70 | 714 | 714 10.020 ST12L | 13| 83 |7.5/27|20|3.5| 20 | 32| 44 | M3x55 | 12 | 8 | 6 | 4.5|3.5| 25 |12.5 380 600 3.9| 37|37 | M3x8
9 119|55(|25|19] 3 - (@12 M3x3 |1.85 - |52 32 30 M3x6 0.51
MLW 7H 191308 41 1.77 314 | 23.45(15.53 | 15.53 | 0.029 ST12S _ 13 | 25 205 243 1.510.53]0.46
MLW 9C 21145(12275(393 2.75 412 | 40.12 | 18.96 | 18.96 | 0.040 ST 15C 20 |279]| 42 470 570 46| 22|22
12129 6 |30 - (@12 M3x3 |24 = || 7 45 30 M3x8 091
MLW 9H 233524385507 3.43 5.89 | 54.54 | 34.00 [ 34.00 | 0.057 ST15L |16 |41 |8.5(32| 25 |3.5| 25 [42.8(57.1| M5x5.5 | 15 | 10|6.5| 4.5 |3.5| 40 | 20 650 930 75| 5.9 |5.9 | M3x12
MLW 12C 15| 31.3 | 46.1 392 559 [70.34 | 27.80 | 27.80 | 0.071 ST 155 - [17.7|32.1 356 397 3112 1
14 (34| 8 [40[28] 6 - (@12 M3x3.6 |28 - |85 45 40 M4x8 1.49
MLW 12H 28| 45.6 | 60.4 5.10 8.24 [102.70| 57.37 | 57.37 | 0.103 ST 20C 25 |34.6(50.3 678 926 94|54 |45
MLW 15C 20| 38 [54.8 677 9.22 [199.34| 56.66 | 56.66 | 0.143 ST20L |20| 5 |10|40| 30| 5 | 30 [52.3| 68 | M4x6 | 20 | 11 [9.5(55| 6 | 60 | 30 | 868 1316 [13.4|10.4| 8.7 | M3x 15
16 34| 9 [60[45]75 52| M3 | Mé4x4.2 | 3.2 23 (95 45 40 M4x10 2.86
MLW 15H 35| 57 [738 893 | 13.38 |299.01(122.60|122.60 0.215 ST 20S - |22.3| 38 467 540 55| 2 | 1.7




aEEK mERE

STW A BB AMRISMR TR

Dimensions for Stainless Steel STW Series Miniature Linear Guideways

n

W L
B1 B H L1
_ —M2
4-MxL Gn 6D |
- H+ S H ﬁ M
T| LT B i ‘ ‘2 : o < —— —F—
T T i il
I I Ll L)1
. ¢d ‘
N Wh E |
-
W L
B B H L1
2
4 —Mx|- Gn ) C
Wi T i r‘ —‘
T D) T} U U
T R Pl i s ——
> e | S < T == ‘ aaas
ik ik 7 rh i
L [ ¢ d | } | L1
We E P |
-
N Wh M
M A
© ©
= o —9)
© ©
GENEY | MCRrEZ BEFRNE |[BREE
B R~H(mm) 5 3 Basic Basic Static 124 R~F
g | Dmensions o BRR (nfngl) ) D_?‘ﬁ"ﬁlRTf (mf";g ) Dynamic | Static Rated Mounting
Modeﬁ\lo of Assembly imensions of Bloc imensions of Rai Load Lordl Moment Bolt for
: Rating Rating (kgf.m) Rail
H|Hi|N|W|B|Bi| C|L| L| MxL |Wr|Hr|D | h | d| P | E |C(kgf) |Co(kgf)| Mr| Mp | My | (mm)
STW3C 45| 10 [15.2 29 54 0.16(/0.09(0.09
45| 1 3 (12| - - M2x14 6 26| 4 15124 15 - M2 x L
STW3L 8 |15.1|20.1 38 91 0.26(0.19]0.19
STW5C - |13.6(20.6 48 92 0.47(0.22]0.22
6.5/1.5|3.5(17| 13 | 2 M25x2 [ 10 4 |48|16(29)| 20| 7.5 M2.5 x 6
STW 5L - |[17.6(24.6 63 134 0.7 [0.42]0.42
STW7C 10 | 22 |31.4 140 210 1.6 10.73|0.73
9|2 |55(25|/ 19| 3 M3 x 3 14 | 55| 6 | 3.2|3.5| 30| 15 M3 x 8
STW 7L 19 |32.5| 42 180 320 [2.39/1.58|1.58
STW 9C 21|4.5| 12 (28.5|38.8 280 420 4.09(1.93|1.93
12| 3 | 6 |30 M3 x 3 18 7 6 [45(3.5| 30| 15 M3 x 8
STW 9L 23 | 3.5| 24 (40.4|50.5 350 600 5.56(3.47|3.47
STW 120 15 | 31 | 44 400 570 7.17|2.83(2.83
14| 3| 8 (40| 28| 6 M3x35 | 24 8 8 | 45|4.5]| 40 20 M4 x 10
STW 121 28 |46.3| 59 520 840 10.47/5.85|5.85
HeHHy | EREZ FERNE |[BHEE
2B R~F(mm) 5 5 Basic Basic Static 1248 R~
e Dimensions Di %RETJ— (Tgl) K D.%MRTJ— (mfn::‘) il Dynamic Static Rated Mounting
S8 | of Assembly imensions of Bloc imensions of Rai e Load Moment Bolifor
. Rating Rating (kgf.m) Rail
H|Hi| N|W|B|Bi| C|L| L| MxL |Wr|We|Hr|D| h|d| P | E |C(kgf) |Co(kgf)| Mr| Mp | My | (mm)
STW 15C 20 |39.4| 55 690 940 20.3|5.78(5.78
16| 4| 9 |60| 45|75 M4x4.5 |42 |23 10| 8 [4.5|4.5| 40| 20 M4 x 12
STW 15L 35 |58.7|74.5 910 1410 3048/ 12.5(12.5

RIRBEMHAQRAED

NEER

s ‘ S:E 12

D:#iZ i
F-EBZ%H
C:HEXMH

E: ERUSRNE

H: HE 82 i

Y: YRIIZ 0

S: DIN#E 18 42 i
RE:E:4 5

U: DIN#R #5 12 18
K: KE 12 g

B E
R:&A L&

212 8 S0

EMN:mm

¥ {m |

= 1E
BEfmm

BREB(BHTIH)
BHT1 A18B28 C38 D48
$1:(2.5x2=B2)

SERES
N:E{)i8 S:EYE D248

KRR
GHE F.&&

ERRESR
C0. C1, C2, C3, C5, C7. C10

EEBRE
BE{:mm

5o ERERER
PO, P1, P2, P3. P4

1298
(BERERE ) fHl.—EmERIE B2

12-13

SFU R 025 05 T4 D G C5-600-P1-B2+N3 N

208 R E IR

S B1:3E N1:§EE P BFRE N3:EHE N4

DA SR
I B

BRBREEE

S B1:FE N1k P:BFREE N3:$E/LEE N4

DA T
T E

B ERE. BENERARER  AERETR.



14-15

ABERARN mERRE

SFS RIIMER T FE
SFY RIMBRITFE Oneie) M(Ofmle) 30" 15° Qs

S0o (Oil hole)

L < P24 .
(Oil hole) 38 @% ﬂ[ SES
1 i
/®’u_‘: I|| ~®\\ 4T‘i:’ . ::_:_
/ § \ : : LI
-t - gl &l »4*% - 318 Model No. = SFS03232 Model No.=SFS04005
\ , BA7:mm
4-X B
(thr.) A ®/ 17 ATRE S WS | BERY HEE | BEE
T e e |E | e aw | nm
. E|B ) odelno. | Da | D|A|[B|L|W|H|[X|Q]n Ca S
SFSR1205-28| . [ 5 | 2.5 | 24 [ 40 [ 10|31 [32 | 30 [ 45|Méx1| 2.8x1] 661 1316
SFSR1210-2.8 10| 2.5 |24 |40 | 10 [48.5] 32 | 30 | 4.5 [Méx1] 2.8x1] 642 1287
SFSR1605-3.8 5 [2.778| 28 [ 48 | 10 | 38 | 38 | 40 | 5.5 |Méx1[3.8x1| 1112 | 2507
SFSR1610-2.8 10 [2.778 | 28 [ 48 | 10 | 47 [ 38 | 40 | 5.5 [Méx1[ 2.8x1] 839 1821
¥ {7:mm SFSR1616-1.8| 15 | 16 | 2.778 | 28 | 48 | 10 | 45 | 38 | 40 | 5.5 [Méx1| 1.8x1| 552 1137
z SFSR1616-2.8 16 [2.778 | 28 [ 48 | 10 | 61 | 38 | 40 | 5.5 |[Méx1] 2.8x1| 808 1769
I\ F T 2 W8 % ZEiER HEE | BT X %
ARES | T 2|, SFSR1620-1.8 20 | 2.778°| 28 | 48 | 10 | 57 | 38 | 40 | 5.5 [Méx1| 1.8x1| 554 1170
Model g B £ nf\ | A
odeltno. 1 4 | Da |D|A|E|B|L|W|[H|X]| n Ca G SFSR2005-3.8 5 [3.175| 36 | 58 | 10 | 40 | 47 | 44 | 6.6 [M6x1| 3.8x1| 1484 3681
SFYR1616-3.6| 16 | 16 [2.778 32 | 53 [10.1] 10 | 45 | 42 | 34 | 4.5 [M6x1[1.8x2| 1073 | 2551 SFSR2010-38| ) | 10 13.175] 36 |58 | 10 | 60 | 47 | 44 | 6.6 |MExT) 3.81) 1516 | 3833
- : : : X o SFSR2020-1.8 20 [3.175| 36 | 58 | 10 | 57 | 47 | 44 | 6.6 [Méx1| 1.8x1| 764 1758
SFYR2020-3.6| 20 | 20 [3.175|39 | 62 [ 13 [ 10 [ 52 [ 50 | 41 [ 5.5 [Méx1|1.8x2| 1387 | 3515 — 0 CREET A AN A A A R
SFYR2550-1.6| 50 | 50 [ 3.969 | 47 | 74 | 15| 12 | 58 | 60 | 49 | 6.6 [M6X1|0.8x2| 976 2495 SFSR2510-3.8 10 131751 40 162 | 12 1 65 | 51 | 48 | 6.6 IMéx1]| 3.8x1] 1638 4633
SFYR2525-3.6| 25 | 25 |3.969 | 47 | 74 | 15 | 12 | 64 | 60 | 49 | 6.6 [M6x1|1.8x2| 2074 5494 SFSR2520-2.8 25 2013969 40 | 62 | 12| 72 1 51 | 48 | 6.6 [Méx1] 2.8x1] 1206 2695
SFYR3232-3.6| 32 | 32 [4.762|58 | 92 [ 17 [ 12 | 78 | 74 | 60| 9 [Méx1|1.8x2| 3021 | 8690 SFSR2525-1.8 25 [3.175] 40 [ 62 [ 12 [ 70 | 51 | 48 | 6.6 [M6x1| 1.8x1] 843 | 2199
SFYR4040-3.6| 40 | 40 | 6.35 | 73 |114[19.5| 15 [ 99 | 93 | 75 | 11 |Méx1|1.8x2| 4831 | 14062 SFSR2525-2.8 25 [ 3.175| 40 [ 62 | 12 [ 95 | 51 | 48 | 6.6 [M6x1| 2.8x1| 1232 | 3421
SFYR5050-3.6| 50 | 50 |7.938| 90 [135[21.5| 20 [117[112] 92 | 14 |Méx1|1.8x2| 7220 | 21974 SFSR3205-3.8| 32 | 5 [3.175| 50 |80 | 12| 42 | 65| 62 | 9 [Méx1]|3.8x1| 1839 | 6026
SFSR3210-3.8 10 [3.969 |50 [ 80 | 13 62 [ 65| 62| 9 [Méx1]3.8x1] 2460 | 7255
SFE RIRER-TFK SFSR3220-2.8| . | 20 [3.969 [ 50 [80 [ 12 [ 80 | 65| 62 | 9 [Méx1[2.8x1] 1907 | 5482
SFSR3232-1.8 32396950 |80 [ 1384|6562 9 [Mex1|1.8x1] 1257 | 3426
R W|F| K BiER HEE | BT SFSR3232-2.8 32 13.969 |50 [ 80 | 13 [116]| 65 | 62 | 9 [Méx1|2.8x1| 1838 | 2329
NRE S p 4
BB | & nw | A SFSR4005-3.8| 40 | 5 [3.175] 63 |93 | 15 [ 45| 78 [ 70 | 9 [Msx1]3.8x1| 2018 | 7589
Modelno. | | \ | pa D |A|E|[B|L|W|[H|X|a]ln
a Ca | Coa SFSR4010-3.8 10635 6393 14]63]78]70] 9 [M8x1]3.8x1] 5035 | 13943
SFE01616-3.6| 16 | 16 | 2.778 | 32 | 53 |10.1| 10 | 45 | 42 | 34 | 4.5 [Méx1[1.8x2 | 1073 | 2551 SFSR4020-2.8| o | 20 | 6.35 [ 63 [93 [ 14 | 82| 78 | 70 | 9 [M8«1]2.8x1] 3959 [ 10715
SFE02020-3.6| 20 | 20 | 3.175| 39 | 62 |11.5| 10 | 55 | 50 | 41 | 5.5 [Méx1[1.8x2 | 1387 | 3515 SFSR4040-1.8 40 635 63|93 [15[105] 78| 70| 9 [M8x1|1.8x1] 2585 | 6648
SFE02525-3.6( 25 | 25 | 3.969 | 47 | 74 | 13 | 12 | 57 | 60 | 49 | 6.6 |M6x1[1.8x2 | 2074 | 5494 SFSR4040-2.8 40 | 6.35 | 63 |93 | 15 |145| 78 | 70 | 9 |M8xT] 2.8x1] 3780 | 10341
SFE03232-3.6| 32 | 32 | 476258 | 92 | 16 | 12 | 82 | 74 | 60 | 9 |Méx1[1.8x2 | 3021 | 8690 SFSR5005-3.8] 50 | 5 |3.175] 75 |110] 15 | 45 | 93 | 85 | 11 [M8x1] 3.8x1| 2207 | 9542
SFE04040-3.6] 40 [ 40 | 6.35 [ 73 [114] 19 [ 15 [100] 93 | 75 | 11 [Mex11.8x2| 4831 [ 14062 SRl S 101 635 | 75 1101 18 | 68 | 93 | 85 | 11 |M8xTj 3.8x1] 5638 | 17852
SFE05050-3.6| 50 | 50 | 7.938 | 90 | 135 |21.5| 20 [ 125|112 | 92 | 14 |Méx1|1.8x2 | 7220 | 21974 SRR e | 20 609 || Fe 110 118 | 108 99 | @8 || 10 el | S]] a7y | 1869
SFSR5050-1.8 50 | 6.35 | 75 [110] 18 [125] 93 [ 85 | 11 [M8x1] 1.8x1] 2946 | 8749
SFSR5050-2.8 50 | 6.35 | 75 [110] 18 [175] 93 [ 85 | 11 [Msx1] 2.8x1] 4308 [ 13610




16-17

ABERARN mERRE

DFS RIMBRIER SFI ZIHMBRIT X

ik

AL 25 45. (Ol hole) a0° 150 5
(Ol hole) m . Oy
N SR ] Qi z
g . AN ~ (Qil hole) _-'_"_
I O T e
T !
Model No.=DFS03220 Model No.=DFS04005 L
BAIimm . T
N Z H & |
amms | B3| % BIERT BEE | BEE .
Model g B| & nm | AT L
Oaeino: | | Da |D|A|B|L|W ] H X]| Q]n Ca Coa
DFSR1605-3.8 5 (2778 |28 | 48 [ 10 | 73 | 38 | 40 |55 [Méx1|38«1| 1112 | 2507
15 Bimm
DFSR1610-2.8 10 [2778 | 28 | 48 | 10 | 97 |38 | 40 |55 |Méx1|28x1| 839 | 1821
Apme |H|F| XK IR HEE | BIE
DFSR2005-3.8 5 (3175 |36 |58 |10 | 75 | 47 | 44 | 6.6 [Méx1|38x1| 1484 | 3681 AMES gl g fw | aE
20 Modelno. | 4| " po [D|A|B|L|{W|H|[X]|Y|Z]|] @ |n]| ca | Coa
DFSR2010-3.8 10 {3175 | 36 |58 | 10 [120 | 47 | 44 |66 |Méx1|38x1| 1516 | 3833
% | SFIR1605-4 5 1317530 | 49 | 10 |50 |39 |34 |4.5| 8 [4.5| Méx1 |1x4| 888 | 1525
DFSR2505-3.8 5 (3175 |40 | 62 [ 10 | 75 | 51 | 48 | 6.6 [Méx1|38x1| 1650 | 4658 16
¥ | SFIR1610-3 10 [3.175|34 | 58 | 10 | 57 | 45 | 34 [5.5|9.5]5.5| Méx1 [1x3| 716 | 1232
DFSR2510-3.8 | 25| 10 [3.175 | 40 | 62 | 12 [122 | 51 | 48 | 6.6 [Méx1|38«1| 1638 | 4633 sl srira0052 120 | 5 131751 34 1 571 11151 1 45 1 40 15.5 9.5 15.5] Méxt |1xdl 999 | 1994
25
DFSR3205-3.8 | 32| 5 | 3175 |50 | 80 | 12 |82 | 65 | 62 | 9 |Mo6xT|38x1| 1839 | 6026 ¥c | SFIR2510-4 10 |4.762| 46 | 72 | 12|85 |58 | 52 | 6.5] 11 |6.5| M8x1 |1x4| 1903 | 3695
DFSR3210-3.8 10 {3969 |50 [ 80 | 13 [122 | 65 | 62 | 9 |Méx1|38x1| 2460 | 7255 ¥ | SFIR3205-4 5 13.175| 46 | 72 | 12| 52 | 58 | 52 |6.5| 11 [6.5| M8x1 |1x4| 1264 | 3402
31 32
DFSR3220-2.8 20 3969 |50 | 80 |12 [160 | 65 |62 | 9 |Méx1|28x1| 1907 | 5482 SFIR3210-4 10| 6.35 |54 |88 | 15|90 |70 |62 | 9 |14 [8.5| M8x1 |1x4 3092 | 6101
DFSR4005-38 | 40| 5 [3.175 |63 |63 [ 15 |85 |78 [ 70 | 9 [Mex1|38x1| 2018 | 7589 SFIR4005-4 p 5 |3.17556 | 90 1 15155 172 | 641 9 | 1418.5| M8x1 | 1x4) 1407 | 4341
DFSR4010-3.8 10 | 635 |63 |63 |14 123 |78 |70 | 9 |Msx1 |38 | 5035 | 13943 SFIR4010-4| | 10 6.35 162 1104) 18 | 93182170 | 11 17.5 11| MB8xT | 1x4) 3480 | 7779
38
- 10| 6.35 |72 |114| 18|93 | 92|82 [ 11 |17.5] 11| M8x1 3898 | 10325
DFSR4020-2.8 20 | 635 |63 |63 |14 [162 |78 [ 70 | 9 |M8x1|28x1| 3959 | 10715 >FIRS010-4 | 50 N
SFIR6310-4 | 63 | 10 | 6.35 [ 85 [131] 22|98 [107|95 | 14 | 20 | 13 | M8x1 |1x4| 4401 | 13611
DFSR5005-3.8 | 50 | 5 [3175 | 75 | 75 [ 15 | 85 | 93 | 85 | 11 |M8«1|38«1| 2207 | 9542
SFIR8010-4 | 80 | 10 | 6.35 [105150( 22 | 98 [127[115| 14 | 20 | 13 | M8x1 |1x4| 4900 | 17366
DFSR5010-3.8 10 | 635 |75 | 75 | 18 [138 | 93 | 85 | 11 |M8x1|38x1| 5638 | 17852
48 £ BENIES ETHEERL,
DFSR5020-3.8 20 | 635 |75 |75 | 18 [218| 93 |85 | 11 |M8x1|38x1| 5749 | 18485




L R S o

13-19

ABERARN mRRE

i S
DFI ZFIMER T % SFU RAMERT=

QA
(Oil hole)

Qi A, . ] ] g 8
(Qil hole)

Q|

B {:mm

apme | B S| % iR < HIE | BEE

Model I E| £ | AT

cdetno- 1 g | 1 | pa |[D|A|B|L|W|H|X Q n| ca | Coa

% [SFUR1204-3[ 12 | 4 | 2.5 [ 24 [ 40|10 | 40|32 |30 [45| Mex1 [1x3] 451 [ 709

&4 mm SFUR1604-3 4 (2381|2848 |10 3638 40(|55] Mé6x1 [1x3| 488 | 940

: ¥ [SFUR1605-3| 16 | 5 [3.175] 28 | 48 [ 10 | 42| 38 | 40 [5.5 | Mex1 [1x3] 666 | 1143

Apme |W| S| R RIER Y HEE | BEUE ¥ |SFUR1605-4 5 [3.175| 28 | 48 | 10 | 50 | 38 | 40 |5.5| Mé6x1 |1x4| 888 | 1525

4
Modelno. | B | B | & AfE | A % [SFUR1610-3 10 |3.175| 28 | 48 | 10 | 57 | 38 | 40 [5.5 | Méx1 |1x3| 716 | 1232
‘ld| 1| pa|D|A|B|L|W|H|[X|Y]|Z| @ |n| ca | Coa

SFUR2004-3 41238136 (58|10 | 42|47 | 44 6.6 Méx1 [1x3| 541 | 1187

DFIR1605-4 | 16 | 5 |3.175[30 |49 | 10 | 10|39 | 34 [4.5| 8 |4.5| Méx1 |1x4| 888 | 1525 ¥ [SFUR2005-3| 20 | 5 [3.175( 36 | 58 | 10 | 42 | 47 | 44 [6.6 | M6x1 [1x3] 749 | 1495
¥ [SFUR2005-4 5 (317536 | 58 | 10 | 51| 47 | 44 | 6.6 | M6x1 [1x4]| 999 | 1994

DFIR2005-4 | 20 | 5 |3.175[34 |57 | 11 [101| 45 | 40 [5.5|9.5|5.5| Méx1 [1x4| 999 | 1994 TR i \maa 2o o @ e | s 6all tesa el e | e
DFIR2505-4 5 [3.175( 40 | 63 | 11 101|571 | 46 [5.5[9.5[5.5 Méx1 [1x4| 1119 | 2581 * |SFUR2505-3 5 [3.175] 40 | 62 | 10 | 42| 51 | 48 | 6.6 | M6x1 |1x3| 839 | 1935
25 Y [SFUR2505-4| 25 | 5 [3.175| 40 | 62 | 10 | 51 | 51 | 48 [6.6 | M6x1 [1x4| 1119 | 2581

DFIR3205-4 5 [3.175 46 [ 72 |12 [102| 58 | 52 [6.5| 11 [6.5| M8x1 |1x4| 1264 | 3402 * [ElUR2oI0e 1014762140 6212 | 85 | 51 | 48 |6.6 ] MEXT |Txa] 1903 | 3695
32 % [SFUR3205-4 5 [3.175|50 [ 80 | 12 [ 52 65 | 62| 9 | M6x1 [1x4| 1264 | 3402
DFIR3210-4 10| 6.35 | 54 |88 | 15 [162] 70 [ 62 | 9 |14 8.5 M8x1 [1x4| 3092 | 6101 SFUR3210-3| 32 | 10 | 6.35 | 50 [ 80 | 12 | 74 | 65 | 62| 9 | M6x1 [1x3] 2319 | 4575
5 131751 56 190 | 15 1105l 72 | 22 | o | 12 ls.5| moxt 11| 1207 | 2321 SFUR3210-4 10| 6.35 | 50 [ 80 | 12 | 90 | 65 | 62| 9 | M6x1 [1x4| 3092 | 6101

DFIR4005-4 40 ' ' T SFUR4005-4 5 [3.175]| 63 [ 93|14 [ 55|78 | 70| 9 | M8x1 [1x4| 1407 | 4341
DFIR4010-4 10| 6.35 | 62 [104| 18 |165[82 [ 70 | 11 [17.5] 11 | M8x1 |1x4| 3480 | 7779 SFUR4010-3| 40 | 10 | 6.35 | 63 | 93 | 14 | 71|78 | 70 | 9 | M8x1 [1x3| 2610 | 5834
SFUR4010-4 10| 6.35 | 63 [ 93|14 [ 93|78 | 70| 9 | M8x1 [1x4| 3480 | 7779

DFIR6310-4 | 63 | 10 | 6.35 | 85 |131| 22 |182[107| 95 | 14 [ 20 | 13 | M8x1 |1x4| 4401 | 13611 SFURE310-4) . | 10| 6.35 190 |125| 18 | 98 |108] 95 | 11 | M8x1 |Tx4) 4401 | 13611
SFUR6320-4 20 |9.525| 95 | 135| 20 | 149[115|100[13.5| M8x1 |1x4| 7404 | 19008

DFIR8010-4 | 80 | 10 | 6.35 |105|150| 22 |182(127(115[ 14 |20 | 13 | M8x1 |1x4| 4900 | 17366 SFUR8010-4 80 10 | 6.35 |105|145| 20 | 98 [125]|110[13.5| M8x1 [1x4| 4900 | 17366
SFUR8020-4 20 | 9.525 [125|165| 25 | 154|145|130(13.5| M8x1 |1x4| 8403 | 25345

£35%  BFENICS E A SIELIZY,
£35% . BFCEXIES BT HIELIZL,



X X

ABERARN mERRE

DFU RIIMBER T =&

Qi
(Qil hole)

SFK ZIIMBRITE

Qm
(Qil hole) 7
__|_|7 1
>-E——:Ef

Q m
(Oil hole)

20-21

—-—=P —-—\t 8|8
L

BA7:mm

- W% | BEER~ DEE | BEE
SHES el & fm |
d| | | Da |D|A|B|L|WIH]|X Q n Ca Coa
DFUR1604-3 4L |2381]28 |48 |10 (80|38 |40 | 5 | Méx1 [1x3| 488 | 940
DFUR1605-4 | 16 | 5 [3.175] 28 | 48 | 10 [100] 38 |40 | 5 | Méx1 [1x4| 885 | 1525
DFUR1610-3 10 [3.175| 28 | 48 | 10 [118] 38 [ 40 | 5 | Méx1 [1x3| 716 | 1232
DFUR2004-3 | | 4 [2.381)3¢ |58 | 10| 80 | 47 | 44 [6.6| Meéx1 [1x3| 541 | 1187
DFUR2005-4 5 |3.175| 36 [ 58 [ 10 [101]| 47 | 44 [6.6| Mex1 [1x4| 999 | 1994
DFUR2504-3 4L 238140 | 62|10 |80 |51 |48 [6.6| Méx1 [1x3| 605 | 1534
DFUR2505-4 | 25 | 5 |3.175| 40 | 62 | 10 [101] 51 | 48 [ 6.6 Méx1 [1x4| 1119 | 2581
DFUR2510-4 10 | 4.762 | 40 | 62 | 12 |145| 51 | 48 | 6.6 | Méx1 [1x4| 1927 | 2771
DFUR3205-4 | .| 5 [3.175]50 | 80 | 12 [102] 65 | 62| 9 | Méx1 |1x4] 1264 | 3402
DFUR3210-4 10 | 6.35 [ 50 | 80 | 12 [162] 65 [ 62 | 9 | Méx1 [1x4| 3092 | 6101
DFUR4005-4 5 [3.175] 63 [ 93 | 14 [105| 78 | 70 | 9 | M8x1 [1x4| 1407 | 4341
DFUR40104 | *0 [10 | 6.35 | 63 | 93 | 14 [165] 78 | 70 | 9 | Mex1 |1x4| 3480 | 7979
DFUR5010-4 | 50 | 10 | 6.35 [ 75 |110] 16 [171] 93 [ 85 | 11 | M8x1 |1x4| 3898 | 10325
DFUR6310-4 | | 10 | 635 | 90 [125| 18 |182]108] 95 | 11 | M8x1 |1x4| 4401 | 13611
DFUR6320-4 20 [9.525| 95 [135| 20 {290 (115|100(13.5] M8x1 |1x4| 7404 | 19008
DFUR8010-4 | | 10| 6.35 | 105|145 20 |182]125[110{13.5] M8x1 |1x4| 4900 | 17366
DFUR8020-4 20 | 9.525 [125[165| 25 [295[145(130(13.5] M8x1 |1x4| 8403 | 25345

£35% . BFREXICS BT HIELZL,

—
e W O |
4+ 4-X B \JJQ( T
v ;_E, (thr.) o ,E_I
4=20 (sFK1004) - .
(SFK2002)
(SFK2502)
B {:mm
some 15\a|a N " |
d | I Dal| D|A|[B|LIW|H|X]|Y|[Z]Q n Ca Coa
SFKR0401 | 4 1108110120 3 | 12|15 1412.9| - - - | 1x2 b4 97
SFKRO0601 | 6 1108|1224 |3.5|15| 18| 16 |3.4| - = - |1x3| 111 224
SFKR0801 110814127 4 | 16| 21|18 |3.4| - - - | 1x4| 161 403
SFKR0802 | 8 2 (1.2 14 (27| 4 [ 16|21 (18 (3.4 - - - | 1x3| 222 458
SFKR082.5 2511.2(16 |1 29| 4 | 26 23|20 (3.4 - - - |1x3| 221 457
SFKR1002 2 |1.2(18 35| 5 | 28|27 |22|4.5] - = - | 1x3| 243 569
SFKR1004 o 4 2 | 26|46 | 10|34 (36|28 (4.5 8 [4.5|M6([1x3| 468 905
SFKR1204 2 [1.2120 (37| 5 (28|29 |24 |45 - - - |1x4| 334 906
SFKR1205 (12 | 4 |2.5|24 |40 | 6 |28 [32|25(3.5( - - - |1x3| 4b4 722
SFKR 1202 512522 (37| 8 (3929|2445 - - - |1x3| 675 1316
SFKR1402 (14 | 2 |1.2| 21|40 6 [ 23|31 |26 |5.5]( - - - |1x4| 354 1053
SFKR1602 | 16 | 2 |1.2|25 |43 |10 | 40 [ 35|29 [5.5] - - [ M6 [1x4| 373 1200
SFKR2002 | 20| 2 [1.2]| 50|80 | 15|55 | 65| 68 |6.5(10.5] 6 |Mé6|1x6| 581 2284
SFKR2502 | 25| 2 |1.2|50 |80 | 13| 43 | 65|68 [6.5]|10.5] 6 |M6|1x5| 540 2381




— BEEAN mERE

22-23

SCI RIMBRIT =T AK% 51| (7 B! & 7E I

SupportUnitAK
(fixed-side rectangular type)

o L1 L2
[ ‘ 4 S/Park No. R %/Part name HE/Qty
‘ g ) 1 &l 7% BE AR {&/Housing 1
@3.5 | [ 2 Hy&/Bearing 14/set
‘ 3 E#R/Holding lid 1
- N o 4 [ FE4R/Collar 2
_ - - T T/ ] BRI 5 #$f/Scal 1
6 1% 42 18/Lock nut 14/set
4 Hexgqggr?i s%ggg% ead 2
\_ ) seiscrew
L
B{:mm
= = 5 Wy 14
N /Em & fﬁk 2R~ HEE | BEE o
Model no 7| = = bl T g
' I Da D|L|LT|{L2Z M| R | N Ca Coa | um
SCI01604-4 4 2.381 30 40 9 15 3 1.5 | 1x4 973 2406 32
16
Y| SCI01605-4 5 3.175 30 45 9 20 3 3 1x4 1380 3052 33
SCI02004-4 4 2.381 34 40 9 15 3 1.5 | 1x4 1066 2987 37
20
Y| SCl02005-4 5 3.175 34 45 9 20 5 3 1x4 1551 3875 39
SCI02504-4 4 2.381 | 40 40 9 15 3 1.5 | 1x4 1180 3795 73
Y| SCI02505-4 25 5 3.175 40 45 9 20 5 3 1x4 1724 4904 45
B {7 Unit:mm
SCI02510-4 10 4.762 46 85 13 30 5 3 1x4 2954 7295 51 = M HEDT
ki) Shaft i
Type [femeed L [ L1| L2\ L3 | B | H | h |BT/HI| P|dl|d2] e | oy | T | @A)
Y¢| SCI03205-4 5 3.175 46 45 9 20 5 3 1x4 1922 6343 52
32 AKé6 6 20 - 225 3.5 42 25 13 18 20 30 5.5 9.5 M6x0.75 12 -
SCI03210-4 10 6.35 54 85 13 30 5 3 1x4 4805 12208 62 AK8 8 23 - 26 | 4 52 | 32 | 17 | 25 26 | 38 | 6.6 | 1 M8x1.0 14 11“:34
40 22 32 14
SCI04005-4 5 3.175 56 45 9 20 5 3 1x4 2110 7988 59 AK10 10 11 M10x1.0 19 n
40 43 25 35
24 6 29.5 6 6 36 52 9 14 14
SCI04010-4 10 6.35 62 85 13 30 5 3 1x4 5399 15500 72 7z 23 33
AK12 12 = 25 35 M12x1.0 19 15
SCI05010-4 50 10 6.35 72 85 13 30 5 3 1x4 6004 19614 83 46 | 26 36
AK15 15 25 6 38 5 80 48 28 41 38 60 M15x1.0 22 20
SCI06310-4 63 10 6.35 85 85 13 30 6 3.5 | 1x4 6719 25358 95 50 | L., 40 11 17 | 15
AK20 20 42 10 52 10 95 58 - 56 45 75 M20x1.0 30 25
SCI08010-4 80 10 6.35 105 | 85 13 30 8 4.5 | 1x4 7346 31953 109 AK25 | 25 | 48 | 13 | 59 | 14 | 105 | 68 | 35 | 66 | 25 | 85 " - - M25x1.5 35 31
#iE: (Note)

1.C74R1E B (65 3k )iR s Bk Ak b () 5% K [E] B20.05-0. 1mm,, ( The use of c7( prefix6) deep groove ball beaing maximum axial clearance of 0.05-0.1mm, )
2.C5RE R (75 %) iRk 2 FUEAIE, #EO0EME, ( The use of C5( prefix7) by preloading angular contact bearings, axial clearance 0, )
SRR AEEMAME, RADFAERETRHKLITEMER, (The bearing is made of German brand, which is assembled by DF, )

i BEENERE TRELRL.



24-25

aEEK mERE

AFR 5 (7 B X ¥ iR) BKZ 51 (7 8! & 3£ i)

SupportUnitAF Support BK
(Supported-side rectangular type) (fixed-side rectangular type)
4% S/Park No. Bk &/Part name #H=/Qty
1 i 7 FE A f&/Housing 1
2 ih&/Bearing 14H/set
3 JE#R/Holding lid 1
4 18] 3 El/Collar 2
5 HhEt/Scal 1
6 £ % 82118/Lock nut 14H/set
7 A 7S F LR 25 2
Hexagon socket-head
seiscrew

B {7 Unit:mm

B4 Unit:mm

BK10 | 10 [25|5 29| 5 |60[39]| 30|22 |34(325| 15| 46| 13| 6 |55 |63 ][108] 5 M3 16 | #84F7000 (DFP5) | 0.39
BK12 | 12 [25|5 | 29| 5 |60[43| 30| 2535|325/ 18| 46| 13| 6 |55 |6.6|108]15 M3 19 | 48%F7001 (DFPS) | 0.41
BK15 | 15 [27| 6 |32| 6 |70|48| 35|28 | 40| 38| 18|54 15| 6 |55 |66 |11 |65 M3 22 | 48%F7002 (DFP5) | 0.57
AF10 o 0 | 70 | 43 35 ’ 3 | 35 e 9 " » 40822 508 0.37 BK17 | 17 [35| 9 | 44| 7 |86|64| 43|39 50| 55| 28|68 19| 8 [66]| 9 |14 |85 M4 24 | f8%5F7203 (DFPS) | 1.27
AF12 10 20 170 | 43 35 95 26 | 35 59 9 14 M 600022 S10 0.37 BK20 | 20 [35|8 |43| 8 |88|60| 44|34 |52|50|22|70|19| 8 [66]| 9 |14 |85 M4 30 | #84F7204 (DFP5) | 1.19
AF15 15 20 | 80 | 49 40 30 41 | 40 60 9 14 11 600277 S15 0.45 BK25 | 25 |[42(12| 54| 9 [106/80| 53| 48 | 64| 70 [ 33|85 | 22 |10 [ 9 [ 11 |17.5( 11 M5 35 | #8%4F7205 (DFP5) | 2.3
AF20 20 26 | 95 |58 | 475 30 56 | 45 75 11 17 15 | 62042Z 520 0.75 BK30 | 30 |45|14|61| 9 [128(89 | 64|51 | 76| 78 [ 33 |102| 23 | 11 | 11 | 14 | 20 | 13 Mé 40 | 482%4F7206 (DFPS) | 3.32
AF25 25 30 ] 105 | 68 | 52.5 35 66 | 25 85 1 - - $20522 528 0.95 BK35 | 35 |[50|14|67|12|140(96| 70|52 88| 79 [ 35 |114| 26 | 12 | 11 | 14 | 20 | 13 M8 50 | #@%4F7207 (DFP5) | 4.33
BK4O | 40 [61]18] 76| 15|160[110| 80| 60 [100| 90 | 37 |130]| 33 | 14 | 14 | 18 | 26 |17.5| M8 50 | #8%F7208 (DFPS) | 6.5
#iE: (Note) #iE: (Note)
C72R1E FA (677 k) iR i Bkt & $A 18 5 K 18] B0.05-0. 1mm,, 1.C74R 4% B (65 3K )iR sk ih 7 4 [5) &% A 18] B20.05-0.1mm,, ( The use of c7( prefix6) deep groove ball beaing maximum axial clearance of 0.05-0.1mm, )
(The use of (ptefix 6) deep groove ball bearing maximum axial clearance of 0.05-0. 01mm, ) 2.C5Z{E (72 3k) RiEfii R 2 ELE, #EO0EME, (The use of C5( prefix7) by preloading angular contact bearings, axial clearance 0, )

SRR BEEMME, RADFAERBEERKLTIETEM, ( The bearing is made of German brand, which is assembled by DF, )



ABERARN mERE

BF % 51| (77 BY 37 & i)

Support BF
(fixed-side rectangular type)

EKZR 310 & E £ i)

26-27

455 /park No. B4 H/part name HE/Qty
Hy 7 BE AN 4 /Housing 1
Hy7%&/Bearing 148/set
CE 1¥F/Snap ring 1
B Unit:mm
S sﬁi;éft b h i
T = diam"‘eter L B H B1 | H1 | E P | d3 | d1 | d2 h 5 FA & EHALIEBIIR | Weight
ype | £0.02 | £0.05 (kgs)
BF10 8 20 60 39 30 22 34 32.5 15 46 5.5 6.6 10.8 5 608227 Cc8 0.29
BF12 10 20 60 43 30 25 35 32.5 18 46 59 6.6 10.8 1.5 600027 C10 0.3
BF15 15 20 70 48 35 28 40 38 18 54 5.5 6.6 1 6.5 600227 C15 0.38
BF17 17 23 86 b4 43 39 50 55 28 68 6.6 9 14 8.5 6203727 C17 0.74
BF20 20 26 88 60 A 34 52 50 22 70 6.6 9 14 8.5 6004727 C20 0.76
BF25 25 30 106 80 58 48 b4 70 88 85 9 1 17.5 11 620527 C25 1.42
BF30 30 32 128 89 b4 51 76 78 33 102 1" 14 20 13 6206727 C30 1.97
BF35 85 32 140 96 70 52 88 79 35 114 11 14 20 13 620722 C3s 2.22
BF40 40 37 160 110 80 60 100 90 37 130 14 18 26 17.5 620827 C40 3.27
#iE: (Note)

C72R {5 A (65F 3K R 4 Bk 7R () & K 18] B#0.05-0. 1mm,
(The use of (ptefix 6) deep groove ball bearing maximum axial clearance of 0.05-0. 01mm, )

Support EK
(fixed-side rectangular type)
%S /Park No. B4 %/Part name HE/Qty
1 47 FE A /Housing 1
2 i 7&/Bearing 148/set
3 E#i/Holding lid 1
4 |8 B& E&l/Collar 2
5 HhE}/Scal 1
6 $1 X 82 08/Lock nut 14H/set
7 AN fTEE 2
Hexagon socket-head
seilscrew
B Unit:mm
Wi =8
= b h
.?Q? et | L L2 || B |H B1 | H1 | P | d1|d2 | h | M ]|T fEAA | Weight
ype |&ant £0.02 | £0.05 (kgs)
BK4 4 10 55 |17.5 3 34 19 17 10 18 7 26 4.5 - - M2.6 10 AC4-12 (DFP5) 0.06
BK5 5 165 | 55 [185 | 3.5 | 36 | 21 18 | 11 20 8 28 | 4.5 = - [M26 | M AC5-14 (DFP5) | 0.08
BK6 6 20 | 55 | 22 | 35 | 42 | 25 21 | 13 | 18 | 20 [ 30 |55 | 95 | 11 | M3 | 12 AC6-16 (DFP5) 0.14
BK8 8 23 | 7 | 26 4 | 52 | 32 26 | 17 | 25 | 26 | 38 |66 | 11 | 12 | M3 | 14 | 484F7203 (DFP5) | 0.24
BK10 10 26 | 6 [295| 6 | 70 | 43 35 | 25 | 36 | 24 | 52 9 - - M3 | 16 | #8%F7204 (DFP5) | 0.46
BK12 12 24 6 29.5 [} 70 43 35 25 36 24 52 9 - - M3 19 1847F7205 (DFP5) | 0.44
BK15 15 25 | 6 | 33 5 | 80 | 49 40 | 30 | 41 25 | 60 | 11 - - M3 | 22 | #82F7206 (DFP5) | 0.55
BK20 | 20 42 | 10 [ 50 | 10 | 95 [ 58 [175| 30 | 56 | 25 | 75 | 11 - - M4 | 30 | 4824F7207 (DFP5) | 1.35
#iE: (Note)

1.C74R 1% (657 3% ) iR A BRk i A 4l 5] & X [E] B20.05-0.1mm, ( The use of ¢7( prefix6) deep groove ball beaing maximum axial clearance of 0.05-0.1mm, )
2. C5{E R (72 3%) it /R 2 TE 402, #EO0EEE, ( The use of C5( prefix7) by preloading angular contact bearings, axial clearance 0, )
SRR AEE R, RADFAXREERKLITEITER, ( The bearing is made of German brand, which is assembled by DF, )




EFR 3 (D8 2 £ iR)
Support UnitEF

PAN
=

S

=

BAR mERE

(Supported-side rectangular type)

455 /park No. W#HB/part name WE/Qty
1 A& A 5/Housing 1
2 i 7&/Bearing 148/set
3 CE {1¥F/Snap ring 1
B {7 Unit:mm
EF06 12 42 25 13 18 20 30 5.5 9.5
[ 17 11 B606ZZ STWN-Sé
EF08 15 52 32 17 25 26 38 6.6 11
40 22 21
EF10 8 22 B608ZZ STWN-S8
43 25 24
70 36 52 9
41 23 22
EF12 10 26 B6000ZZ STWN-S10
20 43 25 24
46 26 21 - -
EF15 15 80 48 28 41 23 60 32 B6002Z7Z STWN-S15
50 “30 25 "1
EF20 20 26 95 58 56 30 75 47 B62042Z STWN-S20
EF25 25 30 105 68 35 66 25 85 52 B62052Z STWN-S25
#iE: (Note)

C72R {5 A (65F 3K R 4 Bk 7R () & K 18] B#0.05-0. 1mm,
(The use of (ptefix 6) deep groove ball bearing maximum axial clearance of 0.05-0. 01mm, )

28-29

FK# 31 (B ! E 7 i)

Support Unit FK
(fixed-side reuund type)

4% S/Park No. Bk &/Part name #H=/Qty
1 i 7 FE A f&/Housing 1
2 ih&/Bearing 14H/set
3 JE#R/Holding lid 1
4 18] 3 El/Collar 2
5 Hh#t/Scal 1
6 £ % 82118/Lock nut 14H/set
7 K7 fa iR E 2
Hexagon socket-head
seiscrew
B {f Unit:mm
36 3.4 6.5 4 12 10
FK6 6 20 7 13 | 225 | 22 28 28 6 35 M6 x0.75
35 2.9 5.5 3.5 12 -
10
FK8 8 23 9 14 26 28 43 35 35 7 4 3.4 6.5 4 M8x 1.0 14 15
34 52 42 42 M10x 1.0 17 12
FK10 10 29 13 16 29.5 5.5 5 4.5 8 6 x 14
FK12 12 36 54 44 [A M12x 1.0 19 15
FK 15 15 32 15 17 38 40 63 50 52 12 6 5.5 9.5 M15x 1.0 22 20
FK 20 20 52 22 30 52 57 85 70 68 10 10 6.6 " 10 M20x 1.0 30 25
FK 25 25 57 27 30 59 63 98 80 79 12 10 9 15 13 M25x 1.5 35 31
#i*: (Note)

1.C74R 18 (652 3k ) iR A Bk il 74 4 (5] B K 8] B20.05-0.1mm, ( The use of c7( prefix6) deep groove ball beaing maximum axial clearance of 0.05-0.1mm, )
2. C5ZR{E (72 3 fiEfhih R L UEAIE, H#EO0EME, (The use of C5( prefix7) by preloading angular contact bearings, axial clearance 0, )
AR BEERE, RADFAEREERKLITIEER, ( The bearing is made of German brand, which is assembled by DF, )



(Supported-side round type)

aERK mERE

FFR 31 ([E B! X # ix)
Support Unit FF

455 /park No. W#HB/part name WE/Qty
1 A& A 5/Housing 1
2 i 7&/Bearing 148/set
3 CE {1¥F/Snap ring 1

B Unit:mm

i 3% 12 1

Lock Nut

w5 /park No. B4 & /part name HE/Qty
1 PR E/Lock nut 1
2 WA LR LR A 2
Hexagon socket-head
Setscrew(with set piece)

FF6 6 10 6 4 22 36 28 28 17 3.4 6.5 B606ZZ STWN.Sé

FF 10 8 12 7 5 28 43 35 35 22 3.4 6.5 4 B608ZZ STWN.S8

FF12 10 15 7 8 34 52 42 42 26 4.5 8 B6000ZZ STWN.S10

FF 15 15 17 9 8 40 63 50 52 32 5.5 9.5 5.5 B600277 STWN.S15

FF 20 20 20 "1 9 57 85 70 68 47 6.6 " 6.5 B62047227 STWN.S20

FF 25 25 24 14 10 63 98 80 79 52 9 14 8.5 B6205727 STWN.S25
#iE: (Note)

CTZR{E F (65 3K) R i Bk 7K 5 (51 5= K 18] B£0.05-0. 1mm,
(The use of (ptefix 6) deep groove ball bearing maximum axial clearance of 0.05-0. 01mm, )

30-31

BT Unit:mm

A-BNR 4 M4x0.7 M4x0.5 1.5 5 10
A-BNR5 M5x0.8 M5x0.5 13.5 9 11 5.5 3

0.5 M3 (81 E 1R 44)
A-BNR 6 Méx1.0 M6x0.75 14.5 10 12
A-BNR8 M8x1.25 M8x1.0 17 13 14 6.5 4
A-BNR 10 M10x1.5 M10x1.0 20 16 17
A-BNR 12 M12x1.75 M12x1.0 22 17 19 ’ ’
A-BNR 15 - M15x1.0 25 ” - o s 1 M4 (H B E R 4)
A-BNR 17 - M17x1.0
A-BNR 20 M20x2.5 M20x1.0 35 26 30 13 8
A-BNR 25 - M25x1.5 43 33 35 15 10 M5 (8RB 4)
A-BNR 30 M30x3.5 M30x1.5 48 39 40 20
A-BNR 35 - M35x1.5 59 47 21 b ’ M6 (% 4 E iR 22)
A-BNR 40 - M40x1.5 62 48 *0 25 18

#3% (Ndte): M3-M8H 1NN TR, M10-M40TH 24N |, FE 50.01.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18

